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% Learning outcomes are

statements of what students
will learn 1n a class or In a
class session.
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s The statements are focused on

student learning (What will
students learn in the course?)
rather than Instructor teaching

(What am | going to teach in the
course?).
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These statements should include:
% a verb phrase and

% an impact ("in order to") phrase -- what
students will do/be able to do and

#how they will apply that skill or
knowledge.
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1. Knowledge/Remembering: define, list,
recognize

2. Comprehension/Understanding:
characterize, describe, explain, identify,
locate, recognize, sort

bazsgel o)l - o 5L 25 kg



(V) ol gm0l gows das

3. Application/Applying: choose,
demonstrate, implement, perform

4. Analysis/Analyzing: analyze,
categorize, compare, differentiate
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5. Evaluation/Evaluating: assess,
critique, evaluate, rank, rate

6. Synthesis/Creating: construct, design,
formulate, organize, synthesize
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